Trial Class

Beginner

Reading Comprehension
A Thin Man

Richard is a light eater. He doesn't eat much. He isn't a heavy eater. He eats a light
breakfast, a light lunch, and a light dinner. Richard is not fat. He is thin. He will
always be thin, because he is a light eater. He eats a bowl of cereal for breakfast. He
eats a bowl of cereal with milk. He eats a sandwich for lunch. Sometimes it's a fish
sandwich. He likes fish. He eats rice and vegetables for dinner. All he eats for dinner

is rice and vegetables. He will never get fat.
Questions:

[s Richard a heavy eater!

[s Richard fat or thin?

Why will he always be thin?

What does he eat for breakfast?
What does he eat for lunch?

What does he like to eat for dinner!?
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Vocabulary
All about colors

1. Tomatoes are ___
2. Theskyis
3. Cloudsare
4. Grass is
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Butter is

Carrots are
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Grammar

Eggplants are

Change the verb to complete the sentence.

1. Laura ____ (stay) at home on weekends.

2. Our baby ____ (cry) at night.

3. Philip always ____ (pay) his bills on time.

4. Carol always

(buy) new clothes.

5. Ron ____ (enjoy) good food.

6. He ____ (fly) a plane.

7. Ms. Jones ____ (teach) Math.

8. Jason ____ (make) his own breakfast.

9. Kathy often

10.Peter always

(watch) TV at night.
(kiss) his kids good night.
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